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COMMON ENTRANCE TEST - 2019

ANSWER FEYS - PHYSICS

[guoo | AL |
e
z 2
R
" a | 3 |
s | 3 |
& | 1 |
7 3 |
B 3
s | 3
10 | 1
11 | 1
1z | 3 |
13 | 2
14 2z |
15 | 3
16 1
17 | 4
18 | 1
19 | 2
20 | z
21 | 3
2z | 2
23 | 3
24 | 1
25 | 2
26 | ©
27 | 1
28 | 2 |
29 | 2
30 | 4
3 | 2 |
32 | 3
313 | 1
34 | 2
35 | 1
3§ | 2 |
37 | &
30 | 2
3g | 4
20 | 3
31 | 1
L ¥ 3
a3 | 4
42 1
a5 | 1
46 | 3 |
47 | 4 |
49 | 2
a5 | 2
50 | 2
51 | 3
52 2
53 | 3
58 | 1 |
| =5 4
56 | 3 |
57 | 3
58 | 1 |
59 | 2
N

1. G - Indicates Ome GRACE MARE Awarded forx the (uestion Number.
2. Valua more than four indicates multiple answers are correct.
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L. @ - Indicates One GRACE MARK Awarded for the Question Numbwer,
1, Value mora than four indicates multipls angwers are corrsct.
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5. h.oo.uoh. nuEg T3godh Sﬁmﬂd O3 mnod denr ik SRatiin.

SREded
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2. sedde do &, 2.40 § wrbdd. vQodwdna,
o TP D wORNEONT Acr ¥y, IR,
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o I3 JEod, Segodanod LO.
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MATHEMATICS

Yyvx =§(x+y)® wmn %=

1. V24.99 3 tsscdn
g (A) 4.999
(A) o (B) 4.899
% b (C) 5.001
©) x-y (D) 4.897
o I
x |3x—-5|<2 soon
2. 8 39NS cIRRWoY, dnew 3 Tshecdy (4) s d
EREDTIOYO, ? 3
(A) fx)=x—4x+5 in[l,3] B) 15x5
B) fr)=x2-x in[0,1] 3
(C) fx)=|x| in[-2,2] 9
D) ) =[x] in[25,27] o Ieiss
3. f(x)=r3-6x3+91'+10em!ﬂ@ (D) —lsxsg
q)%meosm
(A) (=0, 1)U (3, ) oGy @ X I DIome
(B) (o0, 1]U[3, ) HoggssRectdesay 8 g9t dotp k 3
€ [1,3] ieden
(D) {-m,—l]U[3, °°)
- Lid29tshals:1Lé| 2
4. word ISwREd Jrbus  wemnsd P(X) | k-1] 3k| k| 3k| 3k2| k2| K24k
4 32003 CUDQ, F0x08S. 3 rdud “ Then the value of k is )
W 14 X206, Srmn OTT Jkeror T A 1
BOBRIOS B0 .
(A) 1043 cm¥/sec (3. B.20¢/3) ®) -2
(B) 1443 cm?¥/sec (3. 3.20¢/3) (©) -3—
(C) 42 cm?/sec (23. B.20¢/3) 1
(D) 14 cm?/sec (23. 3.20¢/%.) (D) 10
Space For Rough Work
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— T —

MATHEMATICS

If YyVx =§(x+y)’ , then -j-i-=
@A =
) 4
B) x+y
©) x-y

o I
X

Rolle’s theorem is not applicable in
which one of the following cases ?

(A) fix)=x2-4x+5 in[1,3)
(B) flx)=x*-x in[0,1]
© fx)=|x| in[-22]

(D) fx)=[x] in[2.5,2.7)

The interval in which the function
f(x) = x3 — 6x2 + 9x + 10 is increasing
in

The value of v24.99 is
(A) 4.999
(B) 4.899
(C) 5.001
(D) 4.897

If|3x -5 | <2 then
A) -1 SxS%

' 7
B) 1sxg —
(B) x 3
© ls:s%

(D) -1 st%

A random variable ‘X’ has

W) (0, 1)U 3, ) . e 5. Bawi it
B) (-0, 1]U [3, ») following probability distribution :
© [1,3] X YR e S ]
(D) (~e0,-1]V [3, ) P(X) | k-1| 3k| k | 3k| 3k?| k2| k2+k
Then the value of k is
The sides of an equilateral triangle are 1
increasing at the rate of 4 cm/sec. The A) =
rate at which its area is increasing, 5
when the side is 14 cm B) -2
(A) 1043 cm¥sec gy 2
(B) 1443 em?sec 7
(C) 42 cm?/sec ) &
(D) 14 cm?/sec 10
Space For Rough Work
Mathematics A-1
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10. w2 Jdodo 3 T 2 To IEID

b A S D AerS TG e RT3 T8 Bosi e ied
PuRnensy, P(A) = 0.2, P(B) = 0.6 §=1{1234356 7 3 wod
Rosd, oy WoR!S Ry D Td
@ P(A[B) = 0.5 un%d P(A"B) = ﬁoajs 20T FTO TR, & o oo
3 Rt ranplalosbin) moa% [CHilowmn
(A) o RoggsRectdono
2
A il
B) 2 (A) 5
3 1
I (B) ;
€©) =
' e o
D) 1 10
3 3
(D) 3
11. 100 ﬂmoaﬁ#z&gt Brodhad U oow
9. X' it nomb QNG DI0W =l oo i b it i i ey
n(A) = 50, n(B) = 60, n(AnB) = 20
T,a08neon =6, p I PX=2) = 12, smnn (A'NB) =
(A) 40
PX=3)=5¢58 P= (B) 20
; (€) 90
A i D) 10
(A) s (D)
(B) 12—61- 1. f:R>RIQ f(x) =Vx> -~ Tx+12
: LU R, w0, 5, dawn f(x) 3 SR
(©) 3 (A) (==,3]U[4, )
(B) (=x,3]U (4, )
OF = ©) (-3 4, )
16 D) (3.4
Space For Rough Work
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10. A man speaks truth 2 out of 3 times.
If A and B are two events of a sample He picks one of the natural numbers in
space S such that P(A) = 0.2, P(B) = 0.6 the set S = {1, 2, 3, 4, 5, 6, 7} and
reports that it is even. The probability
and P(A|B) = 0.5 then P(A'|B) = that it is actually even is
2
3 A) - =
(¥ = 5
10 1
B): =
5 5
(B) et C L
3 ©) 10
3
1 D) -
C =S
(©) > 5
) 1 11. If U is the universal set with 100
3 elements; A and B are two sets such
that n(A) = 50, n(B) = 60, n(A"B) =
20 thenn (A'NB") =
If *X° has a binomial distribution with (A) 40
parameters n = 6, p and P(X =2) = 12, (820
P(X=3)=5 then P = .
(D) 10
i
12
¥ 12. The domain of the function f: R = R
P 5 defined by f(x) = Vx% —7x +12s
1 (A) (—o0,3]U [4, )
) =
2 (B) (=,3]uU (4, )
. © (-=,3]N (4, )
10 ) M
16 D) G.9
Space For Rough Work
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13. cos x = | sin x | AAOEGOLT TR,

Xx=5 y+) E98

17. = XoY0eal Tone
TOTIOR) 2 -1 1
3x — dy — z + 5 = 0 FDIONY IR
(A) x=nnt % ,neZ OFO BRI
= 2 A) cos™! (-—9—]
(B) x 2mti4.nez (A) o
© x=mn+CIP X nez ®) sin—![—g ]
4 364
= =
(D) x=2n+1)nt . neZ ©) cos‘l(z 5]3]
14. /3 cosec 20° —sec 20° = (D) sin! (ﬁ]
(A) 2
Sl 18 1,2, 1) 2orbanoes
C) 4 . (1,2,1) 20 0
(D) 1 ";'=>’;2=z"3 o Seasrt aohes
030y
18, P(n): 2" <nl 'aﬁ?dgt %@ﬂmﬁm e J_ J_
(A) 2
2
B) 3 (©) —{3 o 2
©€) 4
@) 3 19. XY-3sb3ed), A2, 3,-5) D
6. 2x—y+z+3=0xDIoq (1,3 4) B(-1,-2,-3) womries) deeazss
VOTDOVOT VT LOWTRRT WOTOY Rodesdosomy, Dupeiist oRTIY
(A) (-1,4,3) (A) 2:1 =0308320
(B) (0.-4.-7) (B) 3:2 wommNn
© d,2,-3) (C) 5:3 3030800
@) 353 (D) 5:3 oENn
Space For Rough Work
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13. If cos x = | sin x | then, the general 17. Acute angle between the line
solution is x-5 y+l1 z+4
s and the plane
% 2 a
(A) .r=mttz,nez 3x-4y-z+5=0is
9
T =
B) ¥=2nm: 7. neZ (A): cos [@]
h 9 )
(C) x=nn+ (1) -E- ,neZ (B) sin! [ﬁ;
D) x=@n+nt I nez (©) cos“'[ 5 )
4. 2J13 )
| (R )
14. /3 cosec 20° —sec 20° = ). e (2J1_3)
(A) 2 _
B) 3 18. The distance of the point (1, 2, 1) from
© 4 the line x_l=y_2=2;3is
243
ey
15. If P(n) : 2" < n! then the smallest
positive integer for which P(n) is true, (B) &
is 3
(A) 2 o 5
(B) 3 ( ) T
C) 4 20
4 3
(D) 5 3
16. Foot of ﬂ'l‘: perpendicular  drawn 19. XY-plane divides the line joining the
from the point (1, 3, 4) to the plane points A(2, 3, -5) and B(-1, -2, -3) in
xx-y+z+3=0is the ratio
(A) (-1,4,3) (A) 2:1 internally
(B) (0,-4,-7) (B) 3:2externally
©) (1,2,-3) (C) 5:3 internally
(D) (-3.5,2) (D) 5:3 externally
Space For Rough Work
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20, SEOHY RTHRT AR DARLIOI

(A) 4x + 5y = 20,
x<6, x.y20

(B) 4x + 5y =20,
; x26, x,y20
(C) 4x + 5y <20,
56, nx20
(D) 4x + 5y <20,
x26, x,y20

3x + 10y < 30,
3x + 10y < 30,
3x + 10y < 30,

3x + 10y < 30,

21, y = Cue%™ 4+ Cpe wumos

0eFORE Tedr oz

Aa) 1
(B) 2
© 3
D) 4

22. |a|=16,|b|=4smn

IgxBR+3-BF =

23. X0Brved 2 ) b AT IRRT BeesY
2n

b -
?endgﬁ. b 3 edd a 3 Jgexw -2

umﬂ|3|=
(A) 4

(B) 3
© 2
(D) 1

A A e A A

24. i +2j +k ‘s -2+ ] +3k
ROBrvsy  BeodMS  ASbIed
OOLTINTO DFIRS BB

o i+i+k

25. [a+2b-¢,a-b,a-b-c]=

(a) 4 ®) [a,b,7¢]

g fe (©) 2[3.,“6.3]

(D) 64 (D) 3[a.b,c]
Space For Rough Work
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20. The shaded region in the figure is the - >, 2
* solution set of the inequations 23. If the angle between a and b is ?and
LY -
m:\)‘ the projection of a in the direction of
—_ bis—2, then|a |=
(0,3)
(A) 4
(B) 3
>X
0 (5.0) N (6.0) m‘ © 2
D) 1
(A) 4x + S5y = 20, 3x + 10y < 30,
X<6, x,y20 . :
: 24. A unit vector perpendicular to the
(B) 4x+5y=20, 3x+ 10y < 30, T A A
PSR e y>'0 : plane containing the vectors i +2j + k
g | o O D A
(C) 4x+5y<20, 3x+ 10y <30, and 21 +j + 3k is
x<6, x,y=20 ?*‘Ai"'ﬁ
(D) 4x+5y<20, 3x+ 10y <30, s AR
x26, x,y20 S
®) itk
21. The order of the differential equation ﬁ
y=Cyet™ + e oy =i
@A) 1 \3
(B) 2 Sl
()3 (D) '\ﬁ
D) 4
- . t i il S S s e TS
22. If|a|=16,| b |=4 then, ek SR e Ll L b
= A) 0
IgxBR+|3-BF = o
(A) 4 ®) [a,b.c
g ?6 (C) 2[a.b,¢]
(D) 64 (D) 3[a.b,c]
Space For Rough Work
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3 2
26. fcor'x dr = 29. f 2] dx =
g 0
(A) 3n A) 5-2-43
B) 0 B) 5+V2-43
8 g" © 5-v2+43
10) . o G 1
1
27, dx= 1
J.J;Hch 30' J’ h—idx-
(A) 2log(Jx +1)+C L iy
®) ~watJEsC @ X
2 2
©) tan!'Vx+C B) Z41
(D) 2tan'Jx+C 8
T
© 3
2x~-1 |
28. = 3
j(x—-l){x+2)(x—3)dx Ale ® 3
|x=1|+Blog|x+2|+Clog|x-3|+K
son A, B, C rish &308,30mN0
o 31 oI P it r? +x + 1 =0 320e80ET
e e Sworvands o? + 2 Lowowd
532 _ "
111 1
(B) E»Eyg —1+i‘J§
(B)
1 =11 2
(C) D M o
§3°3 -1-is3
©
) e g s
3% D) -1
Space For Rough Work
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3 2
26. fcm-'xdx= 29. f[x?]dx-e
-3 0
(A) 3= ‘ A 5-2-43
(B) 0 ' B) 5+2-43
(©) 6n ©) 5-2+43
®) 3 D) -5-2-3
1
1 1+x
27. dx= 30. — = dx=
J.J;-i-x-\/; '{ 1-x
(A) 2log(Vx +1)+C A) %_,
B s
B) tan Jx +C i %*1
(€) tan'yx+C o 8
(D) 2tan'Yx+C f
(D) 3
28. J = & = A log
(x—=D(x+2)x-3)
|x—1|+Blog|x+2|+Clog|x~3|+K, 31. If o and P are roots of the equation
then A, B, C are respectively x?+x+1=0theno? +p?is
-11 -1
e e A) 1
(A)_ 6°3" 2
1514 -1+i43
- (B)
(B) 6°3'3 2
1 -11 ”
et Al Pet s
-1 -11
(D) <373 D) -1
Space For Rough Work
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32. 1,2,3,4,5,6, 7 ©odridd FSoossrs ‘
Stedcte 0> X Tore oot tikKess, | 6 J s 3v e
Ao o] Eﬁ)ﬁ &éﬁm&md 4 GOQT‘W (A) ) IJ cos 3x %) x'z Sin Ix i
RoaJ,030 3 3
(A) 432 2xcos3x i 2sin 3x +C
(B) 436 9 27
(€) 450 Xcosdx  x° sin3x
(D) 454 (B) R S
33, (2 + v - (2 - ¥ =y oxon 2xc;>s3x_25i2r;3x+c
ROPEONTN tadedos BERY Koss, |
(A) 0 {C') . x> cos3x Py x? sin3x %
B) 13 3 3
) 26 2xcos3x  2sin3x +C
(D) 50 9 27
: 3 2.
x " cos3x x“sin3x
34, o Rorkee3d 3epod Swode TR B —————F et
9 smn oud It W JIond 3 :
2xcos3x  2sin3x +C
RO 9 27
A) 3%
e 37. Y2 =x SoSed S8y a2 +y2 = 2
= s FI0 FBOS X-egn e B
TOODT xerry BT TRINTEY,
35. Ro¥ desdodaomd RTFE edrideonn iy .2
A PgerEndsy  wvotLEn@nd, 4 2
Jeadoxo Faogs X-e8gnonr o=
CUOLLRRAS fRed) x4
(A) 45° o A
(B) 90° =g
©) 120° D) x_2
(D) 135° 4 3
Space For Rough Work
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32. The number of 4 digit numbers without -
repetition that can be formed using the 36. J-"‘J sin 3x dx =
digits 1, 2, 3, 4, 5, 6, 7 in which each ' 3 s
number has two odd digits and two (A) P c3°53x—; S;n3x+
even digits is :
A) 432 2xc;sSx_25121;3x+C
(B) 436 ; g
(C) 450 B) x” cos3x N x~sin3x
(D) 454 3 3
2xcos3x 2sin3x C
33. The number of terms in the expansion i P
of (22 + y) — (2 - y») after 3 5 3
A LK : x“cos3x x“sin3x
simplification is o - ks +
@) 0 WAl
B) 13 2xcos3x  2sin3x +C
© 26 9 27
D) 50 x> cos3x  x’sin3x
; T
34. The third term of a G.P. is 9. The 2xcos3x 2sin3x
product of its first five terms is S Ta T
(A) 3
9
(B) 310 37. The area of the region above X-axis
© 3 included between the parabola y?> = x
(D) 3" and the circle ¥ + y2 = 2x in square
units is
35. A line cuts off equal intercepts on the A) x 3
co-ordinate axes. The angle made by 4 2
this line with the positive direction of 3 x
X-axis is (B) 2 4
(A) 45°
5 (©) 2=
(B) 90 354
(© 120° : %2
(D) 135° oot o
Space For Rough Work
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38. Y-o8,y =cosx X y = sin x ; 41. oepr3 Ox2 +25y2 =225
0.<x < 2 0o ejartacaciat oot S
4
DY -2
(A) V2 -1 Sq. units (23. IITE) ®) 2
5
(B) /2 Sq. units (23. Ssrish) ool
(C) 2+ 1 Sq. units (3. IRrisd) 49
(D) 2- 2 Sq. units (4. SRansd) Wy e
n
39. (x+3y)dy=ydr (y > 0) 6303 42. Y (@r-)=x smn
RAEBOLIT RFOT VTS[IFIY) r=l|
3 lim i+23-—+£+ +P—?:- =
AV o L s b 3
Y e 1
ERSF.. 1 Ay =
e e @ 3
; 1
1 1
5 e
o © 1
D) —= (D) 4
y
43. Yoo ey eudgned SR I TorI3.”
40. 00> [ePead canIse WO (x, y) 83 evdod JT00ZE evdesy
39, WS BIFES LAY ¢ DO A) om, eauy  ewSFRe
derzIng  rorswwsendd (1, 1) ITF TR0, .
VOIS s D Beesd, « (B) #ox) SR I s
38, Bealod Q0BT PTRF TSI,
(A) 2logx=y-1 ©€) do  wvoug  ev3gne
(B) 2logy=x2+1 AHFFOIOR,.
(€©) 2logy=x2-1 (D) o, a3 o3 Red
(D) 2logx=y2+1 a@z&ﬁmrbgd
Space For Rough Work
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38. The area of the region bounded by 41. The eccentricity of the ellipse
Y-axis, y = cos x and y = sin x; 9x2 +25y2=225is
T, 4
O0<x< 518 (A) ?
(A) 2-1Sq. units (B) 3
(B) /2 Sq. units ;
(©)  JT+1 8q units © 7
(D) 2- 2 Sq. units i s
16
39. The integrating factor of the B
differential equation (2x + 3y?) 42 B D
dy=ydx(y>0)is E( )
1 B 23 3 S
A) eY lim [ —+—+—+.... +—|=
(A) el Fspid i B Dol 2
== 1
y? (A) 5
1 1
C) - -
© = (B) 2
1 © 1
. 43. The negation of the statement “All’
40. The equation of the curve passing continuous functions are
through the point (1, 1) such that the differentiable.”
slope of the tangent at any point (x, y) (A) All continuous functions are not
is equal to the product of its co- differentiable.
ordinates is (B) Some continuous functions are
(A) 2logx=y*-1 differentiable.
(B) 2logy=x2+1 (©) Some_, contir-auous functions are
i not differentiable.
© 2logy=x-1 (D) All differentiable functions are
(D) 2logx=y*+1 continuous. ;
Space For Rough Work
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44. 100 TZOINY TER,EE I B[RS 47.  [x] Lowomd NOH FPmeros LuSFPTY
dioFeXo eFB,zowN S0 DD 4 3,800 Torie f(x) =x — [x] — cos x
SNGT, & B303RY SnFnd Fe3Y ()

soon f'| = |=
(A) 251600 2
(B) 256100 A) 0
(C) 266000 ® 1
(D) 261600 € %
(D) SABTODHRHOY,

45. ‘EQUATIONS’ oow In@ egoneos
S0 YTIERy Yok InAGNG. ¢ R T .
OBONYY 1o IT TR WOmD 4. fx)=qe™ -1 AOAD
3, oS BorIRRectFosn k-2 ; x=0

. x=039 eawjmmﬁk=
8 a4 s
AT 3
(A) 3
4
(B) ry ®) 9
; 5
) - 1
9 Y
©) 3
o 2 2
9 ) =
3
3x+1  2x-1 x+2 ¥+ |
46. |5x-1 3x+2 x+1|Y 49. f(x)=sin! [1+4x] soor £(0) =
T7x-2 3x+1 4x-1
DFOATRR BRSO 40308 (A) 2log2
' (B) log?2
A0 o 2log2
®) 2 iy e
© -10 D) 4log2
D) 6 5
Space For Rough Work
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44. Mean and standard deviation of 100 47. If [x] represents the greatest integer
items are 50 and 4 respectively. The function and f(x) = x — [x] - cos x then
sum of all squares of the items is f’(")—

(A) 251600 2
(B) 256100 (A) 0
(C) 266000 B) 1
(D) 261600 © 2
(D) does not exist

45. Two letters are chosen from the letters
of the word ‘EQUATIONS’. The sindx 0
probability that one is vowel and the 48. ifflx) = ooyl " s o
other is consonant is

k=2 ; =x=0
(A) g. continuous atx = 0, then k =
3
(A) <
(B) 4 2
2 9
3 (B) 3
© =
. 1
© =
® 2 2
9 = 2
(D) 3
46. The constant term in the expansion of
. x+l
3Ix+1 2x-1 x+2 49. If f(x) = sin™! [2 JI:I,thcnf’(ﬂ)=
Sx—1 3x+2 x+1 |is 14
Tx-2 3x+1 4x-1 (A) 2log2
(A) 0 (B) log2
(B) 2 ©) 2’?2
C) -1
() . D) 4log2
D) 6 | 5
Space For Rough Work
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e d2y 52. P a3 Q risd Xedadred Fstwor
. X=asec ,y_atﬂ-ﬂzeﬂmﬁ? ! m;i ro:d, PQ - QP &0 |
2,000
(A) 2a
(A) DERRI InIF
B) 1
(B) Rsmont n3 g
€ 0
(©) o3, NP
(D) 4
(D) SssRor In3,8
=2 $ 7 =10 17
S1. |0 1 1| =ndded DAcdesd | 53 3A+4B=| R
ISR |
-1 0 3 :I s
g, doz :
: 2B-3A'=| 4 0 |eoonB=
7 T =By
(A |45 "6 =5 Fitiia
g > 4%
O .
@) |-1 -6 =2 & e
L) =52 By 4511
L h3e. 8
SIS T T & : |
Wy 4l =1 =18 :
f.+ =g 354 <16
] ; -5 -7
(D) 31 -615 5?. R
: $ '2 i =10
! d 2 -4
Space For Rough Work
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If P and Q are symmetric matrices of

dzy 52.
50. Ifx=asec?, y=atan’0 then =
dx ~ the same order then PQ — QP is
(A) 2a 3 A3 et J
identity matrix
®) 1 (A) ity
(C€) 0 (B) symmetric matrix
(D)
(C) zero matrix
(D) skew symmetric matrix
51. The inverse of the matrix
2 50 9.=-10 VI
RS 53. If3A+4B'= ]:0 p 31] and
-1 0 3 -1 18
- 2B-3A'=| 4 0 |thenB=
P S gy
(A) |-15 6 -5 £
o .3
W <1 .1
i sl g -4
B -1 6. =2 Sueh
B i 102 @ |-1 1
d 3 2 4
3 =15 5
© l=1 6 '=2 =} =18
ER Gl s e © |4 -16
-5 -7
3 =I5 3 M1 3
plos=p s 2 =4
Space For Rough Work
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- 58. g>gs new  Xoadne nend
- 54, A=[‘: ';],B=E 21],umﬁ Cabi J i 3
| ABB' = QRS *+ &) axb = T@oc‘o
(A) 50 @, 2R INONS. 2 # x = 37! &TT, x =
(B) -250 :
(C) 100 A -
(D) 250 :
: (B) 2
55, wotd [evde THErod Ageroed 5
wdodn 16 eh::’%. &  AOFUER () 3
tﬂc!iﬁ#aia OJInNY IBrocsEneos 125
LEONTRN, DTS tdodo O
(A) 96
(B) 48 i3 3
{C) 256 59. cos|2sin -‘-1-+C05 Z - _
(D) 16 3
(A) g
S6. f:R—> R3BDg: [0, ©) > RIY : 3
fr) = B g = Vx 2o B
WEARIIRNG. B FINSIYnVY, 3
OXRHOT) HOREEE, ? i i
(A) gof (4)=4 (D) does not exist
(B) fog(-4)=4
(C) fog(2)=2 + 2 e =
D) gof (-2)=2 60. a > 2tan”' x+3cot' x<b eon
‘2’ TR *b’ R SRBROTON
57. A={x|IEN,xSS},B={'I|XEZ,XZ (A) 0 D=
- 5x +6 =0} soon A D08 B R ¥
eookroR sheors sudF v Kosd, o0 B) -2’5 %) 2
(A) 2
®) 23 (€) 00¥y2n
(©) 30 T X
(D) 32 o B e
Space For Rough Work
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5S.

T Ay
IfFA = = :
[4 2] [1 2 ] then

| ABB| =
(A) 50

(B) -250
(©) 100
(D) 250

If the wvalue of a third order
determinant is 16, then the value of the
determinant formed by replacing each
of its elements by its cofactor is

(A) 9
(B) 48
(C) 256
(D) 16

f:R—> Rand g: [0, ®) > R is
defined by f{x) = x* and g(x) = Vx.
Which one of the following is not
true ?

(A) gof(4)=4

(B) fog(-4)=4

(C) fog(2)=2

(D) gof(-2)=2

58.

59.

@ <
® =
© 2
®

On the set of positive rationals. a
binary operation * is defined by

a*b: -.%E?-.

If2*x=3!thenx=

cos|:23in_] %+ cos ™! 1]m

4
@ =
® =
© 3

(D) does not exist

lfa+12r-<2tan"'x+30m"x<b

57. IfA={x|xeN,x<5),B={x|xeZ, then “a’ and °b’ are respectively.
x* — 5x + 6 = 0}, then the number of (A) Oandn
onto functions from A to B is B T 42
A) 2 L ohE T
(B) 23 (C) Oand2n
©) 30 Gt I3
O 32 0 e
Space For Rough Work
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COMMON ENTRANCE TEST-2019

DATE SUBJECT TIME QUESTION BOOKLET
' Vf:‘(')sl:g" SERIAL NUMBER
29-04-2019 [MATHEMATICS| 02.30 PM TO 03.50 PM A 1
Total Maximum Time for Maximum Total No. of Mention Your
Duration Answering Marks Questions CET Number
80 Minutes 70 Minutes 60 60
DOs:

1. Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any, report to invigilator.

2. This question booklet is issued to vou by the invigilator after the 2 bell i.e., after 2.30 pm.

3. Candidate must verify that the Version Code of this Question Booklet is tallying with the Version code on the OMR
Answer Sheet. Discrepancy if any, report to invigilator.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTSs:

1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/ SPOILED.

2. The 3™ Bell rings at 2.40 pm, till then;

e Do not remove the seal present on the right hand side of this question booklet.
» Do not look inside this question booklet or start answering on the OMR answer sheet.

1. This question booklet contains 60 questions and each question will have one statement and four distracters. (Four different
options / responses. )

2. After the 3™ Bell is rung at 2.40 pm, remove the paper seal on the right hand side of this question booklet and check that
this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced immedaitely by
complete test booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.

3. During the subsequent 70 minutes :

* Read each question (item) carefully.
= (Choose one correct answer from out of the four available responses (options / responses) given under each question /
item. In case you feel that there is more than one correct response, mark the response which you consider the best. In
any case, choosc only one response for cach item.
e Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number
on the OMR answer sheet.
XOOIRTS ¥, I 8,50 WRONG METHODS
CORRECT METHOD
®.©®®©® ONCECESION N NO

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

6. After the last bell is rung at 3.50 pm, stop marking on the OMR answer sheet and affix your left hand thumb
impression on the OMR answer sheet as per the instructions,

7. Hand over the OMR answer sheet to the room invigilator as it is.

8. After separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you
1o carry home for self-evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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